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U mEs el
» an_l + A

The sequence a,,a,,a,,...a, ,...is such that @, = > = for all n >3 ,if
a, = 4 and a, = 20,what is the value of 4, ?

A. 12
B. 16
C. 20
D. 24
E. 28
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Arithmetic sequence FHEZE%{5

Common difference: /~Z

an=ai+(n-1)d BINAT

sh=(aj*+an)n/2 KA
n=(an-ai)/d +1
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What is the difference between the sum of all positive even integers less
than 102 and the sum of all positive odd integers less than 102 ?

A. 0
B. 1
C. 50
D. 51
E. 10]
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Geometric sequence ZELUES

Common ratio: 2~ EE

S=a -9 (q#z0Bq#])
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For every mteger k from 1 to 10,indusive ,the kth term of a certain sequence is
given by (— l)kH( ~7) If Tis the sum of the first 10 terms in the sequence ,then 7 is

A. greater than 2

B. between 1 and 2

C. betweenl and 1

2
1 1

D. betweenZ and 5

1

E. less than 2
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S NS
If the sequence x|, X2, X3, ..., Xn, ... is such that x| = 3 and Xn+] = 2xp— | for n > |,
then X0 — X9 =
A. 217
B. 220
C. 2%
D. 229-1,

E.22!-]
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